


\

(a) only 1 follows (b) neither
Jg.)/only 2 follows (d) both

Statement: As stated in the recent
census report the female to male
ratio is alarmingly low.

Courses of Action:

1) The govt. should conduct another
census to verify the results.

2) The government should
immediately issue orders to all the
departments to encourage people to
improve the ratio.

d+: oar fe eiferar s Raid
4 del AT B, ARE-YOY IUrd
faaroe w9 9 &9 2 |

CAR G ERI

1) SR&R. IRl & IAfd 1 @
foe v 3R o smAfTa &R
a1feq |

2) WXOR &I qia 9dl fqurn &t
QY SR &R T &l IUrd YR
& favu urcarfaa &<=m arfav |




Arrange the words given below in a
meaningful sequence.

94 ey Tv wl @l wde &9 A
AR o |

(1) poverty

(2) unemployment

(3) population @

(4) disease

(S) death

(a) 2,3,4,5,1 X

(b) 2,4,1,5,3

(c) 3,4,2,5,1

(d) 1,2,3,1% \



Examination, questions and
practice?

OA&ET, U3 3R IJIRATH?

O °

~

(d)




What will come in place of question
Mark ‘?’ in the matrix?

AMfeqg o gy fag 2 & @&WF W @&l
JITTIT?

(a) 60 (b) 20 26

(jrso (d) 45



Village Q is to the North of Village P.
The village R is in the East of village
Q. The village S is to the left of the
village P. In which direction is the
village S with respect to village R?

Mg Q TMd P & SA¥ ¥ & 7id R,
MaQ® Yd # 8| WMdsS, MIP D
9% N | MI R & a9 ¥ T S
fooe foom & 87

(a) west Jh)éuth-west v

(c) south (d) north-west

G



Statement :
HY-:
A>B=C2D,V2G<H=D

Conclusion

(a) only 1 and 2 Mnly 1,2,3
(c)only 3 and 4 T(d) all



\Ul«f 65 km
(b) 80 km
(c) 75 km
(d) 85 km

Two cars start from the opposite
places of a main road, 150 km apart.
First car runs for 25 km and takes a
right turn and then runs 15 km. It
then turns left and then runs for
another 25 km and then takes the
direction back to reach the main
road. In the mean time, due to minor
break down the other car has run
only 35 km along the main road.
What would be the distance b/w two
cars at this point?

A PR 150 @l | @ 7= WP B
fudd Il 9 g% Bl 8| 98l R 25
i =erll 8 3R T IR Fell © @R
fr 15 f&f =ec 21 R I8 I 3R
el 8 3R AR 25 & a@ g 8 3R
R = wed @ ugw @ fow amw
fRem &<t 81 39 49, QA IR AR
ERE B BRY & HSd W PIA 35
foft & @chl 81 59 fig W Q@ o1 @
49 B T 91 BEAN?



The length and breadth of a room are
8 m and 6 m respectively. A cat runs
along all the four walls and finally

along a diagonal order to catch a rat.
How much total distance is covered
by the cat?

UPH PR B a1 AR ArSrs HA: 8 Aex
IR 6 WX | TP facell g8 & Uded D
forg IRl SR ) 3R g F e el

V4 w9 ¥ sl 8| faeeh 7 g fran @
g D7

8 (a) 10
LTV B ()

(d) 48



Some boys are sitting in three rows
all facing north such that A is in the
middle row. P is just to the right of A
but in the same row. Q is just behind
of P while R is in the north of A. In
which direction of R is Q?

P ded dIF Ufthdl H ITR B! AR g@
D 39 PR 90 & f5 A 7=g ufts # B
P, A ® 3% T3 3R B Afe A ufs #
21Q, P dd 4Y & Wafd R, A B SN
21 QR fHy faum & 87

(a) south

(b) south west
(c) north east

\/ﬁl) south east



How is T related to k?
Statement :

1) R’s sister J has married T’s
brother L, who is the only son of
his parents

2) K is the only daughter of L and J.

T, k ¥ 59 yoR et 27
Y :

NVRPTEAJIAT S IS L F G &I
2, S 39 AT &7 sHorar 9T 8

2) K, L3R J & g@ad 98 2|

(a) 1st alone is sufficient
(b) 2st alone is sufficient

\/(6) Both 1 and 2 are sufficient

(d) either 1 or 2 is sufficient



How many children are there in the
row of children facing north?

Statement :

1) vishakha who is fifth from the left
end is eighth to the left of Ashish
who is twelth from the right end.

A ./ 2) Rohit is fifth to the left of Nisha
who is seventh from the right end

‘} )) and eighteenth from the left end.

SR feem 9t iR g@ A gy = 9
ufts ¥ fbas s= 87

4y N V4 o :

£ 1) faemEr & 9I¢ BR ¥ UiEd ®IH W g,
ANy & 9I¥ 9§ 3MSd W W) 8 O qY
BR ¥ TR8d WM | 2|

(a) 1st alone is sufficient , ,
(b) 2st alone is sufficient ;),r-\t?:r g": :Qm: ;’:i?ﬁ U,:\' g

either 1 or 2 is sufficient
JBRET W R 2|
\/::’)’Both 1 and 2 are sufficient




What will come in place of question
mark (?) in the following series

fﬁuﬂaﬁﬁﬁiiﬁﬁﬂiﬁIﬁﬂ”ﬁFﬂ(?)EE?RHH

&E‘H L
16 8 6 40 1027

(a) 105
(b) 117



Direction: Some statements are given
followed by some conclusions.
Assuming the statements to be true,
even if they seem to be at variance
with commonly known facts, decide
which of the conclusions logically
does follow(s) from the statements.

frde §5 F9F 3R S99 91 g ey
fd T §| U B I A gY, el B
9 M dR W F1d 9 | A= adia gk
i, vl o & 919 w1 s qavTa w
A S BT ATERYT BT 8 |
Statement :

1) All perks are fees

2) Some wages are fees

3) All comforts are wages

Conclusion :

1) Some comforts are not perks
2) All comforts are perks

3) All perks are wages
%



DY .
1) 9 o B &
2) 7B WO B §
3) W4l gE—gfaug woigy &
frspy -
1) T& gl o 7 8
2) ¥ g@ gl < §
X 3) @i W= Aol §

(a) Only 1

_jb) Either 1 or 2 @
(c) Only 2
(d) Only 3



Which day was 14 may 1948.
14 §g 1948 &1 dIF T 37 o

(a) Sunday
(b) Monday
_|e¥Friday
d) Wednesd
IR0+ [ GG O Vel
4x Yooy —00dd

/iﬁ-l-"%*” C/{\ | x 304 - | 044
= %%



Statement : There has been a
significant drop in the water level of
all the lakes supplying water to the
city.

Courses of Action:

1) The water supply authority should

/ impose a partial cut in supply to
tackle the situation.

) The government should appeal to
\/2 all the residents through mass
media for minimal use of water.
HYT: WX B UM D YT B aqrell
i el & T WR W Seor@ng fRmae

<IN

HRATE & IRT:

1) S Jmgfa wrfereRer &1 Rerfa @ fAgeq
(a) Only 1 follow @ fog amgfd & iR HSkT @

_~tb) Both =118y |
(c) Only 2 2) TRPR B TAGIR AEGH B AT |
(d) Neither T Rl | 9 T $9 | $H STANT

Y D AT DT AT |



Statement : Financial stringency
prevented the state government from
paying salaries to its employees since
April this year.

Courses of Action:

immediately curtail the staff
strength at least by 30%

\/ 2) The state government should
reduce wasteful expenditure and

arrange to pay the salaries of its
employees.

HYUF: g T 7 TS WRER & 39 9§
I | AU HHAMRA BT a9 a4 § AP
far 21

HRATE P QAT
(a) Only 1 follows 1_) oY TR Bl GRA FHAMNREGT DI AT
«~1b) Only 2 follows 3 P9 § T 30% BT FHeKdl FEA MY

(c) Both 2) TG WHR B fhoar@dl $H &
(d) Neither ey R U FHARAT B dJa- 3 P
IR HRAT TIfRY |

Xl) The state government should



Which two numbers should be
interchanged in the following
equation to make it correct?

618 + 37 x 12 - 703 + 14 = 767
fr=faRag wiiexr & 98 T @ fog
T b9 Q) GERl & smuw # §ar
ST ATfeg?

618 + 37 x 12 - 703 + 14 = 767

14 and 37
‘%::/703 and 12 G|g+[6Y- (al

(c) 618 and 14

(d) 12 and 37 /@



Unscramble the letters in the word
given in these questions and find the
odd one out?

¥ ouE A Ry W ouR @ e @
g 3R IS g fAahrel?

WHALE  &— taf LAHEW
EAGLE +«——(b) LEEGA

m} fn (c) OCRW
S ( ﬁ RKO’lq) (d) WARPSOR

*



Mercury, zinc and metal

URI, STEIT 3R €1g

(a) -

(c) @
(d) .



Rabi crop, wheat and paddy.
&l D B, g 3R G|

(c)

(d)




Statement : The T.V Programmes,
telecast specially for women are
packed with a variety of recipes and
household hints. A major portion of
magazines for women also contains
the items mentioned above.

Conclusion:

/¢
/)

Women are not interested in
other things.

An average women’s primary
interest lies in home and specially
in the kitchen.

(a) Only conclusion 1
(b) Both

AT Only conclusion 2
(d) Neither

U Afgemel @ fov favy o ¥ yailRa
A sy A= geR & el iR
BRG] Hadl | WX Bl 8| Afgemel 3 forg
TeRl @ e TS e d SR Sfeafaa
T A e €1

forp:
1) ARl B TEd Al § P e
&l B B

2) U 3Mgd #Afeer & yifAe ofa =R
3R a9y wU I S § Bl 2



Statement : “ To keep myself up-to-
date, I always listen to 9:00 P.M news
on radio.”-A candidates tells the
interview board.

Assumptions:

)( 1) The candidate does not read
newspaper.

X 2) Recent news is broadcast only on
radio.

HUT: "G BT AUsc Y@ P forg, H ghEm
ASA W [T 9:00 9 & FARR AT
E" — & SHIGIR UET@R S @
qaTaT B |

(a) Only 1 is implicit TIREIS:
(b) Only 2 is implicit 1) SPITIR FHAER U -T&l Ygar 2 |

‘°’) z:::‘her 2) B B TR dael WA W yERa
M B 3 |



Deepak said to Nitin, “ That boy
playing with the football is the

younger of the two brothers of the
daughter of my father’s wife.” How is

the boy playing football related to
Deepak?

dus A fAfa ¥ @81, “gedla QoA drel
98 dedl W fUar & oot & 98 & QA
qIgAl 4 | BIST §|° Hedid Wod drell

dsdl dud A P9 R Hefrd 87

(a) Son

(b) Cousin (C )
\Jp) Brother

(d) Brother - in - law



Select the option that is related to
the fifth number in the same way as
the second number is related to the
first number and the fourth number
is related to the third number.

99 fadeq &1 999 & off Uradl G 9
&1 9 GefRd © iR drll g@r dR
& ¥ Heerd B 'V
33:121::27:81::45:?

(a) 275
(b) 256
(c) 324 \‘

‘9) 225



Statement : Most of those who study
in premier engineering colleges in
india migrate to developed nations
for better prospects in their
professional pursuits

Courses of Action:

1) All the students joining these
colleges should be asked to sign a
bond at the time of admission to
the effect that they will remain in
India at least for ten years after
they complete education.

All those students who desire to
settle in the developed nations
should be asked to pay entire
cost of their education which the
government subsidises.



YT IRA D UIE FONAANRIT Dictall 3
U dlal RSB AT JUAl AEHIAD
nfafaal § SEaR GWEERen @ forg
fefa 39 & IR gaT ad |

CARGIER

1) 39 Dfcrell ¥ WA 8 arel 9 BIAl
WAy P 9HY TP die U SRR HIA
o fog @gr om =Ry & 9 Rem @

H D 9 B 9 $H g9 9l dB HRd
H |

2) 7 9 B o fAefa 39 ¥ I99
T WA 8, ST ST Rem @ @
AR &1 YA $A D g FHBT S
TRy o w® HfeaSt 2t 21
(a) Only 1

nly 2

\/::Tgotz

(d) Neither



Statement : The sale of a particular
product has gone down considerably
causing great concern to the
company.

Courses of Action:

1) The company should make a
/ proper study of rival products in

the market

2) The price of the product should
be reduced and quality improved.

FY: TP A9y Saqrg &1 A s F4
B T8 8 Y a9 9 g1 f&ar 8 @
gl

T — T PIH:

1) SO I FOIR # URgE SR B
ST g ST TRy

2) IAE P! DA HH DI WY R oG
¥ gur fasar wmg |

\/(a) Only 1 follows
(b) Both
(c) Only 2 follows
(d) Neither



Statement :

GSL202W2I<N

Conclusions:

)( 1) O>G

/(2) W<N
(a) Only 1
(b) Both
(c) Only 2

@ -./‘d’ Neither



Statement :
(&3 R>I=N>P;Y2R>K;N<E<Z
Conclusion:

1) K>I X
2) 1<z v~

Jﬁ) Only 2
(b) Only 1 @
(c) Both

(d) Neither



(Cfam

cW7520

Some friends were discussing about
their savings.

1) M says that his savings are not
more than that of W.

2) W says that his savings are
neither less than nor equal to S.

3) S says that his saving are not less
than O, who is not the least saver.

4) T says that his savings are less
than M but not less than P.

S5) P says that his savings are less
than M.

Who among the following is the least
saver?

$9 A3 o 990 & IR A T°f N ®
|

1) M & a1 & & SHH! ¥9a W 9
e &l 8|

JWHI e SHM Fga A A S A
FH B IR T 8 SHD W 2|



3) S F B ¢ & S9! 999 O ¥ HH
Tel 8, O WY $H qoadar el 8 |

4) T 1 $e ¢ & S §9a M ¥ FA
2 AfdT P 39 eI B

5) P & $8T ¢ & S 990 M 9 &4
4

frfolRed & 9 919 999 &9 990 B

qrerT 87

(a) R
\) P

(c) O

(d) S



Six students A,B,C,D,E,F are sitting
on the ground. A and B belong to
Ruby house, while the rest belong to
emerald house. D and F are tall, while
others are short. C and D are wearing
glasses, while others are not wearing.
Which girl of emerald house who is
tall and wearing glass?

®8 B3 A,B,C,D.E,F o9 IR 83 §| A
3R B w4l 899 A Hafg & wafd et
FHIcS 8199 ¥ Heftd 8| D 3R F o=
g, O4fd 39 B 81 C 3R D 7 Twm
Usq @1 8, EfP Y | I T8l ugn
2| TRIeS X & B o FSD! 8 S el
8 3R =9 v g§¢ 87

(a) C |X
(b) E
YHEO,

(d) F



N
(d |
2



Direction: Select the set in which

the numbers are related in the same
way as are the numbers of the
following sets.

(NOTE: Operations should Dbe
performed on the whole numbers,
without breaking down the numbers
into its constituent digits.

E.g. 13- Operations on 13 such as /
adding / deleting /multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical operations
on 1 and 3 is NOT allowed)

S Y= B 999 iforg o He&md
94! UPpR Haftd 8 o yer fAefeRad

a3 Gy Heed 2



([ : SRl @ v g &1 999 |
€& € SRl $f S99 YUTH Dl A
femfoa feg for, oof w@mRil w
wfpand fAenfea & S =fde | SerERvT
‘13’ — 13 TR Afpa o9 & 13 #
SireHT /"eMT /o &% S 13 H
foar < 9@ar 81 13 & 1 R 3 H
fanfora &var sk e 1 3R 3 i

?@§3§§§§?5$#3ﬁpﬂa=ﬁﬂi%o

(10, 22, 42)
15 1572}.‘yp

( S ,(’ Vv

(a) (6,3, 17) A
dﬁf(13,1fr%8)

(c) (9, 22, 38)
(d) (12, 12, 24)



C

2 (4) &

C1

R

G

8 cars C1, C2, C3, C4, C5, C6, C7 and
C8 are parked in two parallel rows
namely row-1 and row-2 facing
towards north such that the car
standing in the row -2 faces the back
side of the car standing in front of it
in row-1. Equal No. of cars stand in
both the rows.

C3 stands second to the left of C4,
which does not stand at any extreme
end. Cl1 and C4 stand in different
rows. C5 is third to the right of C2.

C8 does not stand at any of the
extreme ends. C7, which stands in
row-2 is opposite to C1l. Which of the
following cars is parked opposite to
C47?

8 &N C1, C2, C3, C4, C5, C6, C7 3R
Cc8 I wHHIaR ufedl Iiq ufth—1 3R
ifRF—2 # SR fRem &t 3R 39 yoR Ue
P g E P ufh—2 ¥ @S IR I A



AR 2, Ufth—1 ¥ SUD AHA @Sl R P |
241 9ReAl § HE S ¥ BN ! § |

C3, C4 & T3 AR TN WM | & &I
faedt A sifo BR wR 181 @er 81 C1 3R
C4 T3 uferal ¥ @S ¥ C5, €2
® T ¥ 9T 81 c8 B A sifow e
R T8 @l 8] C7 o -2 # @er 8
cl1 @& faudig 8| f=foifRaa & & &9 &

oR c4 3 fanda @S 87
(a) C3 A C8
(c) C5 (d) C1

®



Statement : “Please put more people
on the job to make up for the delay”

Assumptions:
)( 1) Delay is inevitable in most jobs

2) Output will increase with more
number of people on the job

YT "PUAT A DI WU @ fog IRD
ARl B FH W &

EROMY:
1) Ifreier ST A O uRerd 2

2) NHA R AWS AR P A |/ ATSTYS
T

(a) Only assumption 1 is implicit

®aa gron 1 fAfka 8
/b) Only assumption 2 is implicit
®ad aron 2 fAfga @
(c) Either 1 or 2 is implicit

arartarz fAfga 2

(d) Neither

PIg TRl



(jﬂ)nly |

(c) only 2

(b) Both

Statement : The government has
decided to reduce its subsidy on LPG;
however the subsidy on kerosene
remain unchanged.

Assumptions:

1) Those people who buy LPG can
afford to purchase LPG for a
higher price.

2) Many people may stop buying LPG
and instead use kerosene

Y[ : GRBR A Touronl UR AT Afeqsr
9 B &1 Aol forar 8 geiife ddE
W~ gfeas! smfafda @i |

RO

1) S N7 YUl @REd & 9 e
PHT W TAGIoT WIE GHd 8 |

2) 980 W NT TAdel @GAT §9 @R

(d) Neither HHd & 3R TP IoId DA BT STGRT

N HHd B



PALE
peAL
LERP

How many meaningful english words

can be formed by using letters of the
“ALEP”?

"ALEP” & &Rl $T SUIRT Xa JUoN &

(a) One Three
(c) Two (d) More than three

®



Women, Mothers and Engineers?

AfeeTd, Aag 3R FonfAaR?

@}” - (c) .
(b) @ (d) D



Statements:

1) There is unprecedented increase

in the number of young
unemployed in comparison to the
previous year.

‘/é) Statement 1 is the causeand 2) A large number of candidates

Statement 2 is its effects
P 1 BRI & AR HAF 2 THHI
Y9 ©

(b) Statement 2 is the cause and
Statement 1 is its effects

HYF 2 HRUT B 3R HAF 1 TP
IMIT B

(c) Both are independent causes
Sl WAad HRU B

(d) Both are effect of independent
causes

T WA PR P T9G B

submitted applications against on
advertisement for the p@st of
manager issued by a bank.

HU:

1) fUsal 9 1 g H a1 RISTRI Bl
| # ayd 9fg g% B |

2) §% gRT SR #A9oR 9 @ ferg fasmu=
R g G H R A sded AT
f&a |



Statement:

The weather bureau has through a
recent bulletin forecast heavy
rainfall during the next week
which may cause water logging in
several parts of the city?

Course of action:

1. The bulletin should be given
% wide publicity through the mass
media

/ 2. The civic authority should keep
in readiness the pumping system

for removal of water from these
parts.

.A. The people should be advised to
stay indoors during the period.



®

(a) Only 1 follows

) Only 2 and 3
(c) Only 1 and 2 follows
(d) Only 3 follows

B

qleq I A B @ A dolfeT @
q1EH 9 3Tl GWTE & QIR "IN
qiker &1 Afgsgareft & 8 e«
IEX B bs fewd A W WHIG &8l
Hhdl 27

PRIl D GINT:

1. golfest &1 SHaR Aregdl gRI
e JaR—99R fear 1 arfae
2. AFTR® wiftrexer &1 39 fawal
4 Ut e @ fau gft
Res daR @+ arfav |

3. i Bl 39 3J4Afr & SR BR
® 3JeX &1 DI AdlE < Tl
a1fey |




Statement:

A train derailed near a station
while moving over a bridge and
fell into a river, resulting in the
death of 65 people?

Course of action:

)( 1. The Railway authorities should
clarify the reason of the accident
to the Government.

)( - The Government should

allocate funds to compensate the
destruction caused.

L/3. The protection walls of the

bridge should be made strong
enough to avoid such accidents.



®

HA:

Ud ¢ Jd WX dad 999 R
U el ¥ JaR g AR A4 A
fir 1%, forae aRumRasy 65
i @ wia 8 Ts?
HRATg D QIR

1. ¥od Jfereial s aveR &l
GEHCTHl BT IRV W BT A1fe |
2. GRPR $I Y &fd & 94Uy &
forg a9 amafea s anfay |

3. 0t gHeart ¥ @ @ fav
Jd @I Y& daRi Bl ugid
AOqd 99T ST 91fRy |

(a) Only 1 and 2 follows

(b) Only 2 and 3 follows
(c) All follows

AdT Only 3 follows



Statement :

Should India go in for
computerization in all possible
sectors?

Argument:

. Yes, It will bring efficiency and
accuracy in the work.

2. No, It will be on injustice to the

/( monumental human resources
which are at present
underutilized?

)( 3. No, computerization demands a
lot of money. We should not waste
money on it.

% 4. Yes, when advanced countries
are introducing computers in

every field, how can India afford
to lag behind?



®

L}]_Oaly 1 is strong

(b) Only 2 and 4 strong
(c) All strong

B -

T 9Rd dI gHl gHrfag = |
HFYADBYOT BT ATRT?

do:

1. 8, 399 & A TEar IR
grahdr MUl |

2. 81, g8 394 fauma 99 gae
@ 9l I ' e adaE
H &Y IUIIT 8l 8T 8°

3. T8I, dYcddN & fay 984
Iferd o991 Y IMAIADAT Bidl 2 |
g9 39 W 49T sdie TEF Bl
G113y

4. B, W[4 S~1d <9I B &F H
HcY 99 &R @ &, dl ARd »d

(d) Only 3 and 4 strong tﬂ'@ o g?



Statement:

Should the railways immediately
stop issuing free passes to all its
employees?

Arguments:

W 47 i X 1. No, The employees have the

right to travel free.

2. Yes, This will help railways to
provide better facility.

hY-:
T I0d Bl 394 gHl HHArRAl
®l q¥d U Wl BT qRd 99
HX o ATfau?

Neither 1 nor 2 qJ&-

(b) Both 1 and 2 1. 981, ®HaiRal & qyd gl
(c) Only argument 1 HR &I IABR = |
2. g, 3949 Ydd &l dgax gfaen

d) Onl .
(@) Only argumen <d # #weg fadt



Statement:

To investigate the murder of the

lone resident of a flat, the police
interrogated the domestic

servant, the watchman of the
multi storeyed building and the

liftman.
Assumptions:

\/ 1. The domestic servant,
watchman and the liftman can

give a clue about the respected
murder.

)( 2. Generally in such cases the
person known to the resident are

directly or indirectly involved in
the murder.



2. ITHAIR W OF "l # frard
& yRfaa <afer 8 uger a1 Imad
wY 4 g1 A 9fier g 2 |

LJ;)’Only 1 is implicit
(b) Only 2 is implicit
(c) Both
(d) Neithr



Statement:

The office building needs

repairing just as urgently as it
needs internal as well as external

painting.
Assumptions:

Xl. Efficiency of people working in
the office cannot be improved
unless office building is repaired.

2. Repairing and painting of office
7( building require funds.
B
®AAT Haqd &l faat  dopra
WA D A9 DHdl & S+l B
AMATIHdl ATaR® AR drat gfem
& ot 2



e

RO
1. W4 TP AT Had9 ®I 7Ed
T8l D Wl 99 d@ sy #H
&M B3 dled AT bl T |
guR el fdar o1 g |

2. BIAY Hdd B IWREd UG
VI =2 ORI 3 Taegdhdl
2

\)(fOnly 1 is implicit

(b) Only 2 is implicit

g/(c'r Neither

© (d) Both




If (A+B) means A is the mother of B ;
(A-B) means A is the brother of B ;
(A%B) means A is the father of B and
(AxB) means A is the sister of B,
Which of the following shows that P
is the maternal uncle of Q?

afe (A+B) &1 31ef & & A, B & #T 2;
(A-B) &1 Adcld & b A, B &I HIg &;
(A%B) &1 3f 2 f&6 A, B &1 fUar 2
X (AxB) &1 32 & f6 A, B @) 984
g, fr=ifaRaa & @ &9 @1 <ofar 2@
f& P, Q &1 5rHT B?

(@A) Q-N+MxP X

(b) P+ S x N-Q

(c)P-M + N x Q

(d)O-S %P
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Veena who is the sister-in-law of
Ashok, is the daughter-in-law of

Kalyani. Dheeraj is the father of
sudeep who is the only brother of
Ashok. How Kalyani is related to
Ashok?

diom o srene @B "t 8, dearft &
g &l o9 gdu &1 far & o
IMD BT Shaldl dTls ol dedrvfl
en® | fod yeR defora 2872

(a) Mother-in-law

(b) Aunt

(c) Wife

Mone of the above
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In an exhibition seven cars of
different companies-Cadillac,
Ambassador, Fiat, Maruti, Marcedes,
Bedford and Fargo are standing
facing to east in the following order:

1. Cadillac is next to right of Fargo.
2. Fargo is fourth to the right of fiat.

3. Maruti car is between Ambassador
and Bedfrod.

4. Fiat which is third to the left of
Ambassador, is at one end.

Which of the cars are on both sides of
Cadillac cars?
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(a) Ambassador and Maruti
(b) Maruti and Fiat

(/(z)’ Fargo and Mercedes
(d) Ambassador and Fargo

Ud PRI H fafr=
aufai—afscd®, vddsy, fhue,
arefa, ardSe, dsWis 3R BN
o ura eR fr=fafRaa &9 9 qd
1. DfSAd B & TV 9T | 2 |
2. BN fBUec @ <TI0 | 49t &I
WX el

3. ATofd BR THASY AR dShls
® da H 2

4. fhuec o vHEEsY & IR 3R
R WM R 8, (b BIR W 2 |
»fecl®d dRI & T+l B B )
PR B°



